

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress Estimate Number 11	Contract ID Prime Contra	240119- actor Pace Co	H01 onstruction Company,	LLC	Pay Period Start Pay Period End	June 2, 202 June 15, 20		Original Contract Amount Net Change Order Amount Current Contract Amount	\$8,135,000.00 (\$21,488.50 \$8,113,511.50
Approval Date									By User
June 16, 2025		at the Project Office Level by	reedn						
June 16, 2025		Resident Engineer Level by	hillsd1						
June 18, 2025		e Controllers Office Level by	ramses1						
Original Completi	ompletion Date	ctual Completion Da	ual Completion Date % of Current Contract Amount Complete						
November 1, 2	025	Novem	ber 1, 2025 65.86%						
	Co	ntract Informa	tional Dates					Milestones	
Date Description	Original Co	mpletion Date	Current Completion	n Date	N	No Milestones	s Exi	st for Contract	
Acceptance Date									
Awarded Date	February 14,	2024	February 14, 2024						
Letting Date	January 19,	2024	January 19, 2024						
Notice to Proceed Date	March 11, 20)24	March 11, 2024						
Work Began Date	August 5, 20	August 5, 2024							

Contract Total Pa	ay For Estimate No. 11			
		This Estimate	Previous	To Date
240119-H01				
	Total Posted Items Pay	\$1,503,191.02	\$3,840,192.33	\$5,343,383.35
	Gross Item Adjustments	(\$82,516.86)	(\$122,535.22)	(\$205,052.08)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	·		\$3,717,657.11	\$5,138,331.27
Contract Total Pa	avable This Estimate:	\$1 420 674 16		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3607	0410	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$93.500	14,459.290	\$1,351,943.62
	0420	4071005	TACK COAT	GAL	\$2.630	9,980	\$26,247.40
	0510	6181000	MOBILIZATION	LS	\$500,000.000	0.250	\$125,000.00
Project J9P36	07 - Total						\$1,503,191.02
Overall - Tota	l .						\$1,503,191.02

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3607	0370	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.	740.07000	\$45.00	\$33,303.15
	0370	MISC.	Material			-740.07000	\$45.00	(\$33,303.15)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user reedn overridding Payment Estimate Exception 3 on the current Payment Estimate.	2,379.03000	\$93.50	\$222,439.30
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-2,379.03000	\$93.50	(\$222,439.30)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22	Other Item Adjustment	Asphalt Cement	SL Mix laid 6/2/20225 - 6/14/2025 LM 80.124 - 91.707			(\$65,139.10)

Revision 5/29/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Estimat	Progress Contract ID Estimate Number Prime Contract 11		40119-H01 ace Constructio	n Company,	Pay Period Start LLC Pay Period End	June 2, 2025 June 15, 2025	Original Contract Net Change Order Current Contract	\$8,135,000.00 (\$21,488.50) \$8,113,511.50	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comme	nts	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3607		(SURFACE LEVELING)		Price Adjustment					
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i		855.79000	(\$1.20)	(\$1,028.52)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i		1,655.57000	(\$1.20)	(\$1,989.73)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i	1,860.34000	(\$1.20)	(\$2,235.83)	
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i		1,875.48000	(\$1.20)	(\$2,254.03)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i		1,899.96000	(\$1.20)	(\$2,283.45)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i		1,942.37000	(\$1.20)	(\$2,334.42)
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adju Adjustment Type applied i	2,163.80000	(\$1.20)	(\$2,600.54)	
	0410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index 2,205.98000 Adjustment Type applied is FUEL				(\$2,651.24)
Total									(\$82,516.86)

Revision 5/29/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ntract Project Informa	tion					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J9P3604	FAF 17-1(20)	Resurface	17	TEXAS	rom Route 38 to Route 63							
J9P3607	FAF 17-1(21)	Resurface	17	TEXAS	from Route AW north of Roby to Route 38							
Totals I	by Job N	lumbers										
J9P3604	Posted Item Pay Gross Item Adjustments		Gros	<mark>s Item Pa</mark>	This Estimate \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Previous \$466,905.23 (\$7,923.41) \$458,981.82 \$0.00 \$0.00 \$0.00 \$0.00	To Date \$466,905.23 (\$7,923.41) \$458,981.82 \$0.00 \$0.00 \$0.00 \$0.00					
J9P3607	Gros			<mark>s Item Pa</mark>	\$0.00	Previous \$3,373,287.10 (\$114,611.81) \$3,258,675.29 \$0.00	To Date \$4,876,478.12 (\$197,128.67) \$4,679,349.45 \$0.00					
	Liqui	centive dated Damage r Contract Adji		s	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00						

Revision 5/29/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3607, Item 3049910, Project Item Line Number 0370, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Awaiting inspection to be finalized in AASHTO.	REEDN	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3607, Item 3049910, Project Item Line Number 0370, Material Set 304991096, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Awaiting inspection to be finalized in AASHTO.	REEDN	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3607, Item 4020520, Project Item Line Number 0410, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Awaiting inspection to be finalized in AASHTO.	REEDN	Overridden
Estimate Exception Type: Item Overrun: Contract 240119-H01, Contract Project J9P3607, Project Item Line Number 0470, Contract Line Item Number 0470, Item 6161005, Minor Item.	Awaiting C.O.	REEDN	Acknowledged

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
J9P3604	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.90	\$86,479.00	\$77,831.
	0001	0020	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	320.00	0.00	320.00	LF	320.00	\$16.00	\$5,120
	0001	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,194.80	0.00	2,194.80	TONS	0.00	\$38.75	\$0
	0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	131.00	0.00	131.00	TONS	0.00	\$19.70	\$0
	0001	0050	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	10,140.20	0.00	10,140.20	TONS	1,424.88	\$93.50	\$133,226
	0001	0060	4071005	TACK COAT	12,424.00	0.00	12,424.00	GAL	1,996.00	\$2.72	\$5,429
	0001	0070	4091048	EMULSIFIED ASPHALT, SEAL COAT	543.00	0.00	543.00	GAL	0.00	\$7.00	\$0
	0001	0800	4094011	SEAL COAT AGGREGATE, GRADE B1	1,428.00	0.00	1,428.00	SQYD	0.00	\$7.00	\$0
	0001	0090	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$1
	0001	0100	6161005	CONSTRUCTION SIGNS	1,066.00	0.00	1,066.00	SQFT	1,004.00	\$7.00	\$7,028
	0001	0110	6161025	CHANNELIZER (TRIM-LINE)	225.00	0.00	225.00	EA	100.00	\$18.00	\$1,80
	0001	0120	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$750.00	\$0
	0001	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	0.00	\$5,000.00	\$0
	0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$455,000.00	\$113,750
	0001	0150	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	13.00	0.00	13.00	LF	0.00	\$100.00	\$0
	0001	0160	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	5.00	0.00	5.00	EA	0.00	\$450.00	\$0
	0001	0170	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$500.00	\$0
	0001	0180	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	75,879.00	0.00	75,879.00	LF	0.00	\$0.29	\$0
		0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	80,637.00	0.00	80,637.00	LF	0.00	\$0.39	\$0
	0001	0200	6209901	MISC.OPTIONAL TEMPORARY PAVEMENT MARKING	1.00	0.00	1.00	LS	0.00	\$50,000.00	\$1
	0001	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	12,904.00	0.00	12,904.00	SQYD	12,665.50	\$3.95	\$50,02
	0001	0220	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,991.00	0.00	1,991.00	SQYD	0.00	\$8.30	\$
	0001	0230	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	481.70	0.00	481.70	STA	0.00	\$30.00	\$
	0001	0240	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	348.60	0.00	348.60	STA	0.00	\$36.60	\$1
	0001	0250	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$7,500.00	\$1
	0010	0260	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,238.00	0.00	1,238.00	LF	1,238.00	\$34.00	\$42,09
	0010	0270	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,250.00	\$17,00
	0010	0280	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,400.00	\$13,60
	0040	0290	9031270A	2 IN. PSST POST - 12 GA.	14.00	0.00	14.00	LF	0.00	\$30.00	\$1
	0040	0300	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	1.00	0.00	1.00	EA	0.00	\$500.00	\$1
	0040	0310	9035004A	SH-FLAT SHEET	16.00	0.00	16.00	SQFT	0.00	\$32.00	\$1
Project .	_	tal Value	Posted to E	Date as of Report Generated Date							\$466,90
J9P3607		0320	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$175,000.00	\$87,50
	0001	0330	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	1.00	\$4,000.00	\$4,00
	0001	0340	2072000	LINEAR GRADING CLASS 2	75.10	-7.20	67.90	STA	67.90	\$1,000.00	\$67,90
	0001	0350	2129909	MISC.SHOULDER GRADING	1,913.00	0.00	1,913.00	STA	1,913.00	\$200.00	\$382,600
	0001	0360	3049907	MISC.TYPE 1 AGGREGATE	459.00	-54.10	404.90	CUYD	404.90	\$60.00	\$24,29
	0001	0370	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,095.20	0.00	3,095.20	TONS	740.07	\$45.00	\$33,30
	0001	0380	3105002	GRAVEL (A) OR CRUSHED STONE (B)	272.00	0.00	272.00	TONS	0.00	\$21.20	\$0
	0001	0395	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	295.00	-37.50	257.50	TONS	257.50	\$175.00	\$45,062
	0001	0405	4019910	MISC.OPTIONAL SHOULDER BASE - PMBB 64-22	23,761.10	0.00	23,761.10	TONS	19,886.96	\$93.00	\$1,849,48
	0001	0410	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	20,732.70	0.00	20,732.70	TONS	17,379.03	\$93.50	\$1,624,93
	0001	0420	4071005	TACK COAT	26,357.00	0.00	26,357.00	GAL	13,242.00	\$2.63	\$34,82
	0001		6081000	CONCRETE MEDIAN	89.00	0.00	89.00	SQYD	0.00	\$90.00	\$1
	0001	0430			32.00	0.00	32.00	CUYD	32.00	\$30.00	\$96
	0001		6096020	FURNISHING TYPE 2 ROCK DITCH LINER				CUYD	00.00	D 4 F 00	
	0001 0001 0001	0430		FURNISHING TYPE 2 ROCK DITCH LINER PLACING TYPE 2 ROCK DITCH LINER	32.00	0.00	32.00	CUTD	32.00	\$45.00	\$1,44
	0001 0001 0001 0001	0430 0440	6096020		32.00 2.00	0.00	2.00	EA	0.00	\$45.00	
	0001 0001 0001 0001 0001	0430 0440 0450	6096020 6096042	PLACING TYPE 2 ROCK DITCH LINER							\$1
	0001 0001 0001 0001 0001 0001	0430 0440 0450 0460	6096020 6096042 6123000A	PLACING TYPE 2 ROCK DITCH LINER TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$1,440 \$0 \$11,998 \$900
	0001 0001 0001 0001 0001	0430 0440 0450 0460 0470	6096020 6096042 6123000A 6161005	PLACING TYPE 2 ROCK DITCH LINER TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS	2.00 1,162.00	0.00	2.00 1,162.00	EA SQFT	0.00 1,714.00	\$500.00 \$7.00	\$0 \$11,998

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
40119-	J9P3607	0001	0510	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$500,000.00	\$500,000.0
01		0001	0520	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	6.00	0.00	6.00	EA	0.00	\$600.00	\$0.0
		0001	0530	6191000	PAVEMENT EDGE TREATMENT	192,986.00	0.00	192,986.00	LF	0.00	\$0.75	\$0.0
		0001	0540	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	0.00	22.00	LF	0.00	\$100.00	\$0.0
		0001	0550	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	188,193.00	0.00	188,193.00	LF	0.00	\$0.29	\$0.0
		0001	0560	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	191,986.00	0.00	191,986.00	LF	0.00	\$0.39	\$0.0
		0001	0570	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	8.00	0.00	8.00	SQYD	0.00	\$20.90	\$0.0
		0001	0580	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	774.00	0.00	774.00	SQYD	122.30	\$21.05	\$2,574.4
		0001	0590	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	92.00	0.00	92.00	SQYD	92.00	\$4.00	\$368.0
		0001	0600	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,358.90	0.00	1,358.90	STA	0.00	\$17.00	\$0.0
		0001	0610	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	965.10	0.00	965.10	STA	0.00	\$18.50	\$0.0
		0001	0620	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.20	\$13,000.00	\$2,600.0
		0001	0630	7250318A	18 IN. PIPE GROUP B	802.00	-144.00	658.00	LF	658.00	\$100.00	\$65,800.0
		0001	0640	7250324A	24 IN. PIPE GROUP B	239.00	0.00	239.00	LF	239.00	\$125.00	\$29,875.0
		0001	0650	7250415	15 IN. PIPE GROUP C	87.00	0.00	87.00	LF	87.00	\$80.00	\$6,960.0
		0001	0660	7250418	18 IN. PIPE GROUP C	423.00	32.00	455.00	LF	455.00	\$90.00	\$40,950.0
		0001	0670	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	34.00	-6.00	28.00	EA	28.00	\$400.00	\$11,200.0
		0001	0680	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	10.00	0.00	10.00	EA	10.00	\$500.00	\$5,000.0
		0001	0690	7322015A	BEVELED PIPE END TREATMENT FOR 15 IN. OR ALLOWED SUBSTITUTE PIPE	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.0
		0001	0700	7322018A	BEVELED PIPE END TREATMENT FOR 18 IN. OR ALLOWED SUBSTITUTE PIPE	20.00	0.00	20.00	EA	14.00	\$500.00	\$7,000.0
		0001	0710	8025006	MULCHING	0.80	0.00	0.80	ACRE	0.60	\$8,750.00	\$5,250.0
		0001	0720	8051000A	SEEDING - COOL SEASON GRASSES	0.80	0.00	0.80	ACRE	0.60	\$8,750.00	\$5,250.0
		0040	0730	9031250A	U-CHANNEL POST, 3 LB	264.00	0.00	264.00	LF	0.00	\$30.00	\$0.0
		0040	0740	9031260	WOOD POST, 4 IN. BY 4 IN.	48.00	0.00	48.00	LF	0.00	\$115.00	\$0.0
		0040	0750	9031270A	2 IN. PSST POST - 12 GA.	61.00	0.00	61.00	LF	0.00	\$30.00	\$0.0
		0040	0760	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	5.00	0.00	5.00	EA	0.00	\$400.00	\$0.
		0040	0770	9035004A	SH-FLAT SHEET	25.00	0.00	25.00	SQFT	0.00	\$29.00	\$0.
		0040	0780	9035069A	SHF-FLAT SHEET FLUORESCENT	98.00	0.00	98.00	SQFT	0.00	\$32.00	\$0.
		0001	5001	8061005	ROCK DITCH CHECK	0.00	400.00	400.00	LF	400.00	\$23.60	\$9,440.0
	Project J	P3607 - To	tal Value	Posted to D	Date as of Report Generated Date							\$4,876,478.

Revision 5/29/2025 Page 6 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3607

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0410	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/2/25	6/4/25	- 1	1,875.48	TONS		80.124		83.324		SBL
			6/3/25	6/4/25	1	1,899.96	TONS		80.055		82.965		NBL
			6/5/25	6/9/25	1	2,163.80	TONS		83.324		86.766		SBL
			6/9/25	6/10/25	1	1,942.37	TONS		82.965		86.159		NBL
			6/10/25	6/11/25	1	855.79	TONS		86.766		88.132		SBL
			6/11/25	6/16/25	1	2,205.98	TONS		88.132		91.661		SBL
			6/12/25	6/16/25	1	1,655.57	TONS		86.159		88.65		NBL
			6/14/25	6/16/25	1	1,860.34	TONS		88.65		91.707		NBL
0420	4071005	TACK COAT	6/2/25	6/4/25	1	2,142.00	GAL		80.124		83.324		SBL
			6/3/25	6/4/25	1	1,850.00	GAL		80.055		82.965		NBL
			6/5/25	6/9/25	1	2,142.00	GAL		83.324		86.766		SBL
			6/9/25	6/10/25	1	1,947.00	GAL		82.965		86.159		NBL
			6/10/25	6/11/25	1	901.00	GAL		86.766		88.132		SBL
			6/11/25	6/16/25	1	998.00	GAL		88.132		89.474		SBL Final SS1H
0510	6181000	MOBILIZATION	6/12/25	6/16/25	1	0.25	LS		77.719		95.996		Project Limits

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 12



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J9P3604	0020	MISC. SHAPING SLOPES	Material	Туре	9	May 19, 2025	SYSTEM	(\$5,120.00)	
		0201 20			9	May 19, 2025	SYSTEM	\$5,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0020 -	Total						\$0.00	
	0050	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	10	Jun 2, 2025	REEDN	(\$6,419.08)	Mill/Fill Rumbles and Shoulder Repairs LM 95.996 - 102.653
		PG64-22 (SUR		ACAD - Tota	al			(\$6,419.08)	
			Other Item A	djustment - T	nt - Total			(\$6,419.08)	
			Price FUEL		10	Jun 2, 2025	SYSTEM	(\$1,504.33)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$1,504.33)	
			Price FUEL -	Total				(\$1,504.33)	
	0050 -	Total						(\$7,923.41)	
	0260	MGS GUARDRAIL, 8 FT. POSTS, 6 FT.	Construction Stockpile		1	Aug 15, 2024	SYSTEM	\$19,701.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		- 3 IN			9	May 19, 2025	SYSTEM	(\$19,701.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$0.00	
			Construction	1 Stockpile - 1	Γotal			\$0.00	
	0260 -	Total						\$0.00	
	0270	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		1	Aug 15, 2024	SYSTEM	\$8,760.00	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	May 19, 2025	SYSTEM	(\$8,760.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$0.00	
			Construction	n Stockpile - 1	Total			\$0.00	
	0270 -							\$0.00	
	0280	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		1	Aug 15, 2024	SYSTEM	\$7,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)			9	May 19, 2025	SYSTEM	(\$7,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$0.00	
			Construction	1 Stockpile - 1	otal			\$0.00	
	0280 -	otal						\$0.00	
J9P3604								(\$7,923.41)	
J9P3607	0370	MISC. AGGREGATE FOR BASE	Material		8	May 1, 2025	SYSTEM	(\$7,848.45)	
					8	May 1, 2025	SYSTEM	\$7,848.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	May 19, 2025	SYSTEM	(\$27,117.90)	
					9	May 19, 2025	SYSTEM	\$27,117.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Jun 2, 2025	SYSTEM	(\$33,303.15)	
					10	Jun 2, 2025	SYSTEM	\$33,303.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Jun 16, 2025	SYSTEM	(\$33,303.15)	
					11	Jun 16, 2025	SYSTEM	\$33,303.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
							£0.00		
				- Total				\$0.00	the state of the s



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3607	0370	MISC. AGGREGATE FOR BASE	Material - To	tal				\$0.00	
	0370 -	Total						\$0.00	
	0395	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	1	Aug 15, 2024	craftt1	(\$221.07)	Asphalt laid for crossroad pipes from 08/01/24-08/15/24
		MIXTURE PG64-22 (BAS			4	Oct 1, 2024	REEDN	(\$188.96)	Adjustment for first period of September
					4	Oct 1, 2024	REEDN	(\$433.49)	Adjustment for second period of September.
				ACAD - Tota				(\$843.52)	
				djustment - T				(\$843.52)	
			Price FUEL		1	Aug 15, 2024	SYSTEM	(\$6.23)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Sep 16, 2024	SYSTEM	(\$23.20)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total	4	Oct 1, 2024	SYSTEM	(\$53.22)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Price FUEL -					(\$82.65)	
	0395 -	Total	T HEC FOLE	Total				(\$926.17)	
	0405	MISC.	Other Item Adjustment	ACAD	8	May 1, 2025	REEDN	(\$18,203.30)	B-Base placed 4/23 - 4/28.
			,		9	May 19, 2025	REEDN	(\$39,728.79)	10622.67 ton placed 5-5-25 - 5-15-25.
					10	Jun 2, 2025	REEDN	(\$16,965.24)	B-Base Shoulders 5/19 - 5/22/25
				ACAD - Tota	al			(\$74,897.33)	
				FUEL	8	May 1, 2025	REEDN	(\$2,684.25)	B-Base place 4/23 - 4/28/25.
					9	May 19, 2025	REEDN	(\$11,214.99)	10622.67 tons placed 5-5-25 - 5-15-25
					10	Jun 2, 2025	REEDN	(\$4,789.10)	B-Base Shoulders 5/19 - 5/22/25.
			Ott. II. A	FUEL - Total Adjustment - Total				(\$18,688.34)	
	0405 -	Total	Other Item A	ajustment - 1	otai			(\$93,585.67)	
	0410	BITUMINOUS PAVEMENT	Material		11	Jun 16, 2025	SYSTEM	(\$93,585.67) (\$222,439.30)	
		MIXTURE PG64-22 (SUR			11	Jun 16, 2025	SYSTEM	\$222,439.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user reedn overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Other Item Adjustment	ACAD	10	Jun 2, 2025	REEDN	(\$13,153.43)	Surface level mix laid 5/27 - 5/28/25.
					11	Jun 16, 2025	REEDN	(\$65,139.10)	SL Mix laid 6/2/20225 - 6/14/2025 LM 80.124 - 91.707
				ACAD - Tota				(\$78,292.53)	
				djustment - T				(\$78,292.53)	
			Price FUEL		10	Jun 2, 2025	SYSTEM	(\$3,082.54)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Total	11	Jun 16, 2025	SYSTEM	(\$17,377.76)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Duine EME	- Total				(\$20,460.30)	
	0440	Total	Price FUEL -	Total				(\$20,460.30)	
	0410 - 0440	FURN. TYPE 2 ROCK DITCH	Material		4	Oct 1, 2024	SYSTEM	(\$98,752.83) (\$960.00)	
		LINER							



2024 Sep 3,	Lin	e Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Material Total	7 044	ROCK DITCH	Material		4		SYSTEM	\$960.00	Estimate Item Adjustment (0007) due to user reedn overridding Payment
Octobar Octo									
October Color Co			Material - To	tal					
SIGNS Corrun - Total 13,864.09					-				
Control	047		Overrun	Overrun	9		SYSTEM	(\$3,864.00)	
				Overrun - T	otal			(\$3,864.00)	
Description Control			Overrun - To	tal				(\$3,864.00)	
EROSION CONTROL CROTEXTILE	047	0 - Total						(\$3,864.00)	
GEOTEXTILE	059	EROSION	Material		4		SYSTEM	(\$368.00)	
Material - Total So.00					4		SYSTEM	\$368.00	Estimate Item Adjustment (0008) due to user reedn overridding Payment
18 18 19 19 19 19 19 19				- Total				\$0.00	
Dec 18 IN. PIPE CULVERT GROUP C			Material - Total					\$0.00	
CULVERT GROUP C	059	0 - Total						\$0.00	
Page 16	066	CULVERT	Overrun	Overrun	4		SYSTEM	(\$2,880.00)	
Solid		GROUP C			7		SYSTEM	\$2,880.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',90.00000 - 90.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
END TREAT (18 IN. DIA.)	066	0 - Total						\$0.00	
September Sept	070	END TREAT (18	Material		5		SYSTEM	(\$7,000.00)	
2024 6 Nov 4, 2024 6 Nov 4, 2024 87,000.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 7 Dec 16, 29STEM 2024 87,000.00 7 Dec 16, 2024 8 May 1, 2025 8 May 19, 2025 8 May 1		IIV. DIA.)			5		SYSTEM	\$7,000.00	Estimate Item Adjustment (0001) due to user reedn overridding Payment
2024 Estimate Item Adjustment (0001) due to user reedm overridding Payment Estimate Exception 1 on the current Payment Estimate.					6		SYSTEM	(\$7,000.00)	
2024					6		SYSTEM	\$7,000.00	Estimate Item Adjustment (0001) due to user reedn overridding Payment
Batterial System					7		SYSTEM	(\$7,000.00)	
2025 SYSTEM \$7,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user reedn overridding Payment Estimate Exception 3 on the current Payment Estimate.					7		SYSTEM	\$7,000.00	Estimate Item Adjustment (0002) due to user reedn overridding Payment
2025 Estimate Item Adjustment (0002) due to user reedn overridding Payment Estimate Exception 3 on the current Payment Estimate.					8		SYSTEM	(\$7,000.00)	
2025 9 May 19, 2025 \$7,000.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user reedn overridding Payment Estimate Exception 4 on the current Payment Estimate. **Total** \$0.00 **Material - Total** \$0.00 **Total** \$0.00 **Total					8		SYSTEM	\$7,000.00	Estimate Item Adjustment (0002) due to user reedn overridding Payment
2025 Estimate Item Adjustment (0003) due to user reedn overridding Payment Estimate Exception 4 on the current Payment Estimate. 30.00 Material - Total \$0.00 700 - Total \$0.00 ROCK DITCH CHECK 2 Sep 3, SYSTEM (\$3,068.00) 2 Sep 3, SYSTEM \$3,068.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.					9		SYSTEM	(\$7,000.00)	
Material - Total \$0.00					9		SYSTEM	\$7,000.00	Estimate Item Adjustment (0003) due to user reedn overridding Payment
Solution				- Total				\$0.00	
5001 ROCK DITCH CHECK 2 Sep 3, 2024 2 Sep 3, SYSTEM (\$3,068.00) 2 Sep 3, SYSTEM \$3,068.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.			Material - To	tal				\$0.00	
CHECK 2024 2 Sep 3, 2024 3,068.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.	070	0 - Total						\$0.00	
2024 Estimate Item Adjustment (0001) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.	500		Material		2		SYSTEM	(\$3,068.00)	
- Total \$0.00					2	Sep 3,	SYSTEM	\$3,068.00	Estimate Item Adjustment (0001) due to user reedn overridding Payment
				- Total				\$0.00	



Jun 19, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3607	5001	ROCK DITCH CHECK	Material - To	Material - Total					
	5001 -	Total							
J9P3607 -	- Total						(\$197,128.67)		
Overall - Total									

MoDOT

Contract Adjustments for Contract - 240119-H01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 12 of 12